Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba

1.02 1.00 1.02 1.00 1.01 1.00
0.67 = 0.67 = 0.67 =
0.92F 2 087 -2 0.90 2
40332 0332 0332
0.83 — — 0.00 0.72 0.00 0.78 —— 0.00
1.51971 1.51985 1.52000 1.52101 1.52116 1.52130 1.52478 1.52490 1.52503
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.00 1.020 N
0.67 £
-2 0.956
0.332
X _ 0.79 — — 0.00  0.892 -
1.53380 1.53392 1.53405 1.53908 1.53919 1.53930 1.54821 1.54832 1.54842
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
- 1.01 , 1.00
0.67 £
0.92 N\ o
0332
0.83 — 0.00
1.54934 1.54945 1.54956 1.55041 1.55052 1.55063 1.55449 1.55462 1.55475
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.003 1.00 0.99 1.00
S {067 % 4067 £
0.958 -2 086 2
- 40.33 2 40332
0.913 = — {0.00 0.74 0.00
1.55944 1.55957 1.55970 1.56483 1.56492 1.56501 1.5664 1.5666 1.5668
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.02 1.00 - 1.00
40.67 £ 0.67 =
093 -2 2
N\ H0.33 2 0.33 2
0.84 N 0.00 0.00
1.56682 1.56695 1.56708 1.56799 1.56810 1.56821 1.57644 1.57655 1.57666
Fe arcturus_summer_hba Fe arcturus_summer_hba
1.00 3 1.00 1.02 i 1.00
J0.67 5 X 0.67 =
0.91F o o086 o
e 40332 0332
0.81 _—— i 0.00 0.71 0.00

1.57775 1.57784 1.57792 1.58945 1.58956 1.58967 1.58983 1.58992 1.59000



Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba

1.00 1.018 1.00 0.99 Y 1.00
40.67 £ 0.67 = 0.67 =
-2 0.953 2 090 2
40332 0332 0332
— 0.00  0.887 0.00 0.81 —10.00
1.59020 1.58036 1.58051 1.59049 1.58057 1.58066 1.59075 1.58086 1.59097
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.00 1.01 = 1.00
0.67 %, = 0.67 %,
20921 9 9
0.332 2 0.332
0.00 0.84 0.00
1.59093 1.59101 1.59110 1.59117 1.59132 1.59148 1.59229 1.59251 1.59273
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.00 1.00
0.67 = 0.67 =
Ry o
0332 0332
. 0.00 - 0.00
1.59445 1.58460 1.58475 1.59575 1.59584 1.58592 1.59678 1.58692 1.59705
Fe arcturus_summer_hba Fe arcturus_summer_hba
1.015 1.00 1.00 1.00
0.67 = 0.67 = 0.67 =
0.959 -2 -2 2
0332 0332 0332
0.902 0.00 0.00 0.00
1.59747 1.58756 1.59764 1.60100 1.60111 1.60122 1.60736 1.60745 1.60754
Fe arcturus_summer_hba Fe arcturus_summer_hba
1.02 = —-11.00 1.00 1.02 — 1.00
40.67 £ 0.67 = 40.67 £
0.92 -2 -2 0.90 2
H0.33 2 0.332 H0.33 2
0.82 0.00 0.00 0.79 — 0.00
1.6080 1.6082 1.6084 1.61290 1.61301 1.61313 1.61562 1.61576 1.61589
Fe arcturus_summer_hba Fe arcturus_summer_hba
0.99 1.00 0.91 1.00 1.01 1.00
40.67 £ 0.67 = 0.67 =
0.87 o o082 o o087 o
7 40332 = 0332 0332
0.75 0.00 0.72 0.00 0.72 0.00

1.61683 1.61694 1.61705 1.61891 1.61802 1.61913 1.62108 1.62121 1.62135



Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba

1.02 1.02 1.00 1.01 = =100
067 % N 7 H0.67 5
0.90 0.89 2 090 N\ 2
B 40332 40332
0.78 0.77 —— ————— looo 0.79 — — 0.00
1.6216 1.6218 1.6220 1.62348 1.62361 1.62375 1.62390 1.62404 1.62417
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.00 1.01 —— 1.00 1.02 1.00
067 % - 4067 & 067 %
o 0941 - o o086 o
0.33 2 & H0.33 2 0.33 2
. 0.00 0.87 — il _ 0.00 0.71 — 0.00
1.62554 1.62568 1.62581 1.62959 1.62972 1.62986 1.63193 1.63205 1.63216
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.00
0.67 £
o
0332
— N 0.00 -
1.63279 1.63288 1.63297 1.64016 1.64025 1.64034 1.64082 1.64088 1.64095
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.01 1.00 1.02 === < 1.00
40.67 £ H0.67 £
092 2 090 -2
N 40332 S 40332
0.83 e — 0.00 0.78 = _ 0.00
1.65094 1.65107 1.65121 1.65201 1.65217 1.65233 1.65246 1.65262 1.65278
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.02 —— 1.00 1.018 1.00
) 7 4067 5 0675
0.94 R -2 0.974 2
H0.33 2 0.33 2
— _ 0.86 0.00  0.931 0.00
1.65354 1.65363 1.65372 1.65541 1.65564 1.65587 1.65894 1.65905 1.65917
Fe arcturus_summer_hba Fe arcturus_summer_hba
1.01 0.95 1.00 1.009 1.00
0.67 = 0.67 =
0.90 0.89 2 0.945 o
0332 0332
0.78 0.82 0.00  0.881 0.00

1.66153 1.66169 1.66185 1.66183 1.66192 1.66201 1.66231 66243 1.66254



Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba

1.02 1.00 1.02 1.00
0.67 = 0.67 =
0.91 2 084 g
0332 0332
— 0.80 0.00 0.66 _ 0.00
1.66491 1.66502 1.66514 1.66673 1.66698 1.66723 1.6682 1.6684 1.6686
Fe arcturus_summer_hba Fe arcturus_summer_hba Fe arcturus_summer_hba
1.00 1.009 1.00 1.01 1.00
0.67 = = 0.67 = 0.67 =
-2 0.935 2 095 2
0.33 2 0.332 0.33 2
— 0.00  0.861 0.00 0.88 R 0.00
1.67557 1.67575 1.67594 1.68006 1.68041 1.68076 1.68455 1.68478 1.68502

Fe arcturus_summer_hba

1.01

0.95

0.88 —
1.68674 1.68693 1.68711




C

arcturus_summer_hba

C

1.52978

arcturus_summer_hba

C

1.53255

arcturus_summer_hba

1.54663

arcturus_summer_hba

1.55020

arcturus_summer_hba

1.00
0.67 =

0332
0.00

1.52992

1.00
0.67 =

eig

0.33
0.00

Wi

1.53268

1.00
0675
K=y
0332
0.00

1.54674

1.00
0.67

th

eig

0.33
0.00

Wi

55029

1.5582

arcturus_summer_hba

1.02

0.96

0.90

0.00

1.52997

arcturus_summer_hba

1.53022

1.53265

arcturus_summer_hba

1.00

0.33
0.00

arcturus_summer_hba

1.54285

1.02

0.92

1.54691

arcturus_summer_hba

1.55039

arcturus_summer_hba

1.01

0.96

0.90

1.00

0.00

1.56095

1.56125

0332

eig

0.67 =

eig

W

eig

0675
K=y
0332

arcturus_summer_hba

1.00

0.93r

0.86

1.53206

arcturus_summer_hba

0.67

0.33
0.00

1.53310

arcturus_summer_hba

arcturus_summer_hba

1.54977

arcturus_summer_hba

1.55473

arcturus_summer_hba

0.90 &=

1.56116

1.00

0.67 =

0332
0.00
1.53231

1.00

th

eig

Wi

1.53340

1.00
0.67

th

eig

0.33
0.00

Wi

1.55499

1.00
0.67 =

0.33:
0.00

'9

We

1.56151



C arcturus_summer_hba C  arcturus_summer_hba C  arcturus_summer_hba

1.0 [ o= 1.0 1.02 1.00
40.67 £ 0.67 =
0.95F 2 093 -2
= 40.33 2 0.332
0.90 _— — 0.00 0.84 0.00 5
1.56200 1.56213 1.56226 1.56674 1.56691 1.56708 1.56866 1.56882 1.56897
C C  arcturus_summer_hba C
1.02 — = 1.00 1.02 1.00 0.97 7 = 1.00
0.67 £ 0.67 £ ’ 0.67 £
0.86 2092 2 081 2
0.332 0.33 2 0.332
0.70 _ 0.00 0.81 _ 0.00 0.64 0.00
1.5717 1.5719 1.5721 1.5728 1.5730 1.5732 1.5771 1.5773 1.5775
C  arcturus_summer_hba C  arcturus_summer_hba C  arcturus_summer_hba
1.00 1.00 0.99 1.00
P 0.67 = 0.67 =
0.89 2 0.88[ 2
= S 0.332 0332
0.79 __ - _ 0.00 0.77 0.00
1.57775 1.57797 1.57819 1.57827 1.57843 1.57858 1.59073 1.59088 1.59104
C  arcturus_summer_hba C  arcturus_summer_hba
1.00 1.00
0.67 = 0.67 =
-z ©
0332 0332
= J0.00 0.00
1.59862 1.59868 1.59875 1.59868 1.59875 1.59882 1.59886 1.59897 1.59908
C  arcturus_summer_hba C  arcturus_summer_hba
1.00 1.02 1.00 1.00
0.67 = 0.67 = 0.67 =
2 0.94 2 2
0.332 0.332 0.332
0.00 0.87 0.00 0.00
1.59906 1.59919 1.59932 1.59932 1.59946 1.59959 1.59954 1.59970 1.59985
C  arcturus_summer_hba C  arcturus_summer_hba C  arcturus_summer_hba
1.01 1.017 = ~<~—1.00 — 1.00
Yo.67 5 0.67 £
0.97 0.975 2 2
40.33 2 0332
0.92 — T 0.00  0.933 0.00 0.00

1.61261 1.61272 1.61284 1.61466 1.61489 1.61511 1.61828 1.61844 1.61860



C

arcturus_summer_hba

1.01

0.86

0.72

1.61877

C

1.61891

arcturus_summer_hba

1.02

0.90

0.79

1.00
0.67 =

eig

0.33
0.00

Wi

1.6239

C

1.6243

1.02

0.95

0.89

1.00
0675
K=y
0332
0.00

1.65850

1.65864

1.65878

C

arcturus_summer_hba

1.00
0.67 =

0.332
0.00

1.61895

1.61804

arcturus_summer_hba

1.61913

1.00
=0.67

th

eig

0.33
0.00

Wi

1.62464

1.62482

arcturus_summer_hba

1.62500

1.01

0.90

0.78

1.00
0675
K=y
0332
0.00

1.66158

1.66181

1.66204

C

arcturus_summer_hba

0.96

0.88

0.80

1.00
0.67 =

0332
0.00

1.61809

C

1.61933

arcturus_summer_hba

1.00
0.67

th

eig

0.33
0.00

Wi

1.64050

C

1.64061

arcturus_summer_hba

1.64073

1.02

0.941

0.86

1.00
0675
=y
0332
0.00

1.66288

1.66307

1.66325



N arcturus_summer_hba
1.52223 1.52229
N arcturus_summer_hba
1.00
0.67 5
Ry
0.332
0.00

1.53204

N

1.53219 1.53234

arcturus_summer_hba

1.53306

N

1.53323 1.53340

arcturus_summer_hba

1.017

0.942

0.866

1.53664

N

1.53675 1.53685

arcturus_summer_hba

1.54206

1.01 1.00
0.67 £
0.96 2
0332
0.91 b= - 0.00
1.542809 1.542872 1.542936

arcturus_summer_hba

1.01

0.81

0.61

1.00
0.67 =

0.332
0.00

1.52963

1.52978

arcturus_summer_hba

1.52992

1.010

0.964

0.918

1.00
0.67

th

eig

0.33
0.00

Wi

1.53242

1.53255

arcturus_summer_hba

1.53268

1.53605

1.53617

arcturus_summer_hba

1.00

0.90

0.79

1.533083

1.538146

arcturus_summer_hba

1.01[C
0.90

0.79C

1.542255

1.542318

arcturus_summer_hba

1.017

0.961

0.906

1.00
0.67 =

0332
0.00

eig

1.54360

1.54370

1.54381

N arcturus_summer_hba

1.02 1.00
0.67 £
0.96 2
0332
0.90 0.00
1.52999 1.53009 1.53020
N arcturus_summer_hba
1.00
0.67 £
o
0332
0.91 T 0.00
1.53263 1.53276 1.53289

N arcturus_summer_hba

1.00

0.92

1.536194 1.536279

N arcturus_summer_hba

1.539190 1.539232 1.539274
N arcturus_summer_hba
1.01 1.00
0.67 £
0.90 2
o 0332
0.79 o~ 0.00
1.54262 1.54275 1.54287
N arcturus_summer_hba
0.998 1.00
0.67 £
0.945 o
0332
0.892 0.00
1.543725 1.543811 1.543896



N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba

1.018 1.00 1.02[ 1.00 1.018
0.67 = 0.67 =
0.981 -2 -2 0.971
0.33 =z =
e -
0.943 — - — 0.00 0.923
1.54533 1.54548 1.54562 1.546351 1.546415 1.546479 1.54648 1.54663 1.54678
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
1.02 1.00 1.00 1.00
- 0675 Jo67 £ 4067 £
0.97 + 2 2 2
0.332 0.332 — _ =0.33 2
0.92 0.00 0.00 0.89 B— o Yoo}
1.54691 1.54703 1.54716 1.54746 1.54759 1.54772 1.547826 1.547889 1.547953
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
0.967 1.00 1.00
= 0.67 = 0.67 =
0.931 o o
4 0332 0332
0.896 - 0.00 0.00
1.547911 1.547954 1.547997 1.54847 1.54859 1.54872 1.54926 1.54939 1.54952
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
1.00 1.00
0.67 = 0.67 =
-z ©
0332 0332
0.00 0.00
1.54977 1.54992 1.55007 1.55009 1.55020 1.55031 1.55041 1.55052 1.55063
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
1.00 / 1.00 1.02 1.00
0.67 = 0.67 = 0.67 =
-2 2 093 2
0.33 2 0.332 — 0.33 2
X 0.00 0.00 0.84 ——— ~ 0.00
1.55378 1.55389 1.55400 1.55393 1.55408 1.55423 1.5578 1.5580 1.5582
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
1.00 1.00 0.996 — 1.00 1.016 o 1.00
0.67 = 0.67 = = 0.67 =
0.92F 2 0.922 2 0.942 o
0332 0332 0332
0.85 0.00  0.847 — 1000  0.868 0.00

1.55834 1.55849 1.55864 1.55974 1.55889 1.56004 1.56112 1.56133 1.56155



N

arcturus_summer_hba

N

arcturus_summer_hba

N arcturus_summer_hba

1.56202

1.56257

N

1.56265

arcturus_summer_hba

1.00

0.87

0.74

eig

Wi

Weigt

1.5664

1.56680

N

1.56691

arcturus_summer_hba

N arcturus_summer_hba

1.02 = =

0.86 -

0.70

1.57174

arcturus_summer_hba

1.57203

N

1.57216

arcturus_summer_hba

0.97 —

0.64

1.57712

N

arcturus_summer_hba

0.99

0.881

0.77

eig

Wi

1.5907

N

1.01

0.93

0.85

N

1.577466

arcturus_summer_hba

eigth

Wi

1.58249

arcturus_summer_hba

1.594491 1.594557 1.594

1.59456

eigt

1.59852

1.59968

N arcturus_summer_hba

N arcturus_summer_hba

~|
0.33

0.00

1.58844 1.58858 1.58871

40.33
0.00
1.60601 1.60612 1.60623

1.00
0.67 =

0332
E 0.00
1.566304 1.566369 1.566434

1.56873 1.56884 1.56895

1.00
0.67 =

eig

W

eig

1.00
40.67 £

eig

W



N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba

0.97 1.00 1.00
0.67 = 0.67 =
0.84 -2 T
N 0332 0332
0.71 0.00 0.00
1.60641 1.60652 1.60663 1.606565 1.606631 1.606697 1.60668 1.60679 1.60690
N arcturus_summer_hba N arcturus_summer_hba
1.00 1.00 1.01 = 1.00 1.00
0.67 = 0.67 = 0.67 =
0.92F 2 093 2 2
0.33 2 0.332 0.33 2
0.84 = — 10.00 0.86 0.00 0.00
1.61032 1.61041 1.61050 1.61179 1.61190 1.61201 1.61261 1.61272 1.61284
N arcturus_summer_hba N arcturus_summer_hba
1.017 = 1.00 1.00 1.00
40.67 £ 0.67 = 0.67 =
0.975 o o o
40332 0332 0332
0.933 0.00 . 0.00 0.00
1.61471 1.61486 1.61502 1.61828 1.61844 1.61860 1.61889 1.61904 1.61920
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
1.00 1.00
0.67 = 0.67 =
-2 ©
0332 0332
0.00 0.00
1.62108 1.62119 1.62130 1.62393 1.62406 1.62419 1.62469 1.62482 1.62496
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
1.00 1.02
0.67 %, 5
2086 9
0.332 2
_ 0.00 0.71
1.62536 1.62550 1.62563 1.63195 1.63211 1.63227 1.63211 1.63218 1.63225
N arcturus_summer_hba N arcturus_summer_hba N arcturus_summer_hba
1.01 _]1.00 1.015 1.00 1.006 1.00
067 % = 40.67 £ — 40.67 5
0.93 2 0.960 - 2 0.962f o
0332 0332 40332
0.85 - A 0.00  0.906 — — 0.00 0917 0.00
1.63573 1.63586 1.63600 1.63778 1.63792 1.63805 1.65000 1.65011 1.65023



N arcturus_summer_hba
0.998 1.00
0.67 5
0.952 -2
0332
0.906 0.00
1.66394 1.66408 1.66422
N arcturus_summer_hba
1.02 S =~ 1.00
~40.67 S
0.86 -2
H0.33 2
0.70 — — 0.00
1.67647 1.67673 1.67698

N arcturus_summer_hba N arcturus_summer_hba
1.019 1.00 1.02 1.00
0.67 = 0.67 =
0.954 2 0.96 2
0332 0332
0.889 0.00 0.90 0.00
1.66901 1.66926 1.66951 1.67337 1.67356 1.67374
N arcturus_summer_hba
1.003 1.00
= 0.67 =
0.950 -2
0.332
0.897 0.00

1.68211

1.68225 1.68239



O arcturus_summer_hba
1.017 1.00
0.67 £
0.973 -2
0332
0.929 0.00
1.52383 1.52408 1.52433
O  arcturus_summer_hba
1.02 1.00
0.67 £
0.91 -2
0.33 2
0.81 0.00
1.54091 1.54113 1.54134
O arcturus_summer_hba
1.00 1.00
0.67 £
0.89 o
0332
0.79 0.00
1.542553 1.542638 1.542724
O arcturus_summer_hba
1.00
0.67 £
o
0332
0.00
1.55447 1.55460 1.55473
O  arcturus_summer_hba
1.00
0.67 £
Ry
0.332
0.00
1.55711 1.55728 1.55746
O arcturus_summer_hba
1.02 1.00
0.67 £
0.86 o
0332
0.70 0.00

1.57192

1.57214 1.57235

arcturus_summer_hba

1.00
0.67 =

0.332
0.00

1.53308

1.53320 1.53333

arcturus_summer_hba

1.015

0.930

0.844

1.00
0.67

th

eig

0.33
0.00

Wi

1.54121

¢

1.54134 1.54147

arcturus_summer_hba

1.00

0.92

0.84

1.00
0.67 =

eig

0.33
0.00

W

1.5499

¢

1.5501 1.5503

arcturus_summer_hba

1.00
0.67 =

eig

0.33
0.00

W

1.55597

¢}

1.55621 1.55645

arcturus_summer_hba

1.00
0.67

th

eig

0.33
0.00

Wi

1.55748

¢

1.55763 1.55778

arcturus_summer_hba

0.98

0.91

0.84

1.00
0675
K=y
0332
0.00

1.57337

1.57346

1.57355
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arcturus_summer_hba

1.01

== 1.00
40.67 £

40.332
0.00

1.5395 1.5397

arcturus_summer_hba

eig

1.54223
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1.54236

arcturus_summer_hba
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